1)  z = 5x + 2y
Minimize subject to:

2x + 3y > 6

4x + y > 6

        x > 0

        y > 0

2) z = 2x + 2y

Maximize subject to:

3x – y > 12

X + y < 15

        X > 2

        Y > 5

3)           




Policy A


Policy B

Fire/Theft                    $10,000


$15,000

Liability                     $180,000                                  $120,000
Premium                            $50


        $40

The company wants at least $300,000 fire/theft insurance and at least $3,000,000 liability insurance from these plans.  How many units should be purchased from each plan to minimize the cost of the premiums?  What is the minimum premium?
